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• MainStream	
  analysis	
  with	
  Armenteros	
  cut	
  underway	
  using	
  LEGO	
  trains	
  
• Data	
  &	
  LHC11a10a	
  essen@ally	
  done	
  (wai@ng	
  on	
  final	
  merging),	
  took	
  2-­‐3	
  days	
  
• Should	
  be	
  able	
  to	
  start	
  LHC11a10b_plus	
  immediately	
  aLerwards	
  

• SO,	
  assuming	
  no	
  problems,	
  might	
  be	
  possible	
  to	
  have	
  new	
  K0s	
  spectra	
  by	
  next	
  week	
  

• Have	
  set	
  up	
  my	
  AOD	
  task	
  to	
  look	
  at	
  some	
  systema@cs	
  related	
  to	
  the	
  Armenteros	
  cut,	
  can	
  
submit	
  as	
  soon	
  as	
  next	
  tag	
  generated	
  (18:00	
  today	
  in	
  theory).	
  

• Have	
  been	
  asked	
  several	
  @mes	
  about	
  possible	
  false	
  peaks	
  introduced	
  by	
  the	
  Armenteros	
  
cut	
  -­‐	
  >	
  have	
  created	
  some	
  background	
  distribu@ons	
  for	
  this...	
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Combinatorial Background 0.50 <pt < 1.50
MK0_CombAllArm2
Entries  20730
Mean   0.4743
RMS    0.04586

No Arm Cut
Pt > |0.2*Alpha|
Pt > |0.5*Alpha|
Pt > |Alpha|

Combinatorial Background 0.50 <pt < 1.50
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Combinatorial Background 1.50 <pt < 2.50
MK0_CombAllArm2
Entries  11907
Mean   0.4927
RMS    0.04746

No Arm Cut
Pt > |0.2*Alpha|
Pt > |0.5*Alpha|
Pt > |Alpha|

Combinatorial Background 1.50 <pt < 2.50
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Combinatorial Background 2.50 <pt < 10.00
MK0_CombAllArm2
Entries  3020
Mean   0.5028
RMS    0.0485

No Arm Cut
Pt > |0.2*Alpha|
Pt > |0.5*Alpha|
Pt > |Alpha|

Combinatorial Background 2.50 <pt < 10.00 From	
  LHC11a10a,	
  this	
  shows	
  K0	
  candidates	
  
which	
  are	
  not	
  K0	
  or	
  Λ/Λbar	
  

Stats	
  aren’t	
  great,	
  but	
  clearly	
  no	
  major	
  peak	
  

I	
  did	
  a	
  crude	
  comparison	
  of	
  the	
  height	
  in	
  the	
  
peak	
  region	
  to	
  the	
  sidebands,	
  any	
  possible	
  excess	
  

is	
  ~0.01%	
  of	
  the	
  peak	
  -­‐	
  and	
  looks	
  sta@s@cal	
  

I	
  think	
  this	
  shows	
  that	
  the	
  effects	
  of	
  the	
  
perpendicular	
  cut	
  on	
  the	
  background	
  are	
  benign.	
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This	
  shows	
  K0	
  candidates	
  which	
  are	
  Λ/Λbar.	
  

Nicely	
  shows	
  the	
  benefits	
  of	
  this	
  cut	
  –	
  
background	
  is	
  fla`ened	
  and	
  effec@vely	
  
eliminated.	
  

Stronger	
  cuts	
  would	
  be	
  unnecessary.	
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Entries  44541
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No Arm Cut
Pt > |0.2*Alpha|
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MK0_LaLbAllArm2
Entries  22538
Mean   0.4949
RMS    0.04391

No Arm Cut
Pt > |0.2*Alpha|
Pt > |0.5*Alpha|
Pt > |Alpha|

LaLb Background 2.50 <pt < 10.00
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For	
  completeness,	
  this	
  shows	
  K0	
  candidates	
  
which	
  are	
  K0s.	
  Clearly	
  the	
  stronger	
  two	
  cuts	
  
would	
  be	
  excessive	
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MK0_K0sAllArm2
Entries  347450
Mean   0.4947
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No Arm Cut
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MK0_K0sAllArm2
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No Arm Cut
Pt > |0.2*Alpha|
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Pt > |Alpha|

K0 Mass Peak 1.50 <pt < 2.50
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K0 Mass Peak 2.50 <pt < 10.00
MK0_K0sAllArm2
Entries  41217
Mean   0.4987
RMS    0.01923

No Arm Cut
Pt > |0.2*Alpha|
Pt > |0.5*Alpha|
Pt > |Alpha|

K0 Mass Peak 2.50 <pt < 10.00
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NEW	
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0-­‐5%	
  

40-­‐60%	
  

0-­‐90%	
  

Within	
  errors	
  everything's	
  ok,	
  BUT	
  it	
  seems	
  
somewhat	
  unlikely	
  that	
  the	
  <1	
  trend	
  will	
  
dissapear	
  when	
  errors	
  are	
  reduced	
  

Am	
  checking	
  ‘tail	
  cut-­‐off’	
  effect	
  to	
  see	
  how	
  
much	
  of	
  this	
  is	
  due	
  to	
  that	
  

(NB	
  –	
  these	
  are	
  now	
  linear	
  fits,	
  quad	
  same	
  
but	
  a	
  bit	
  worse)	
  


